Food Service Products



ROUND EARTH-FRIENDLY PIZZA BOX

A SMARTER LINE OF GREEN PRODUCTS. A SMARTER WAY TO DO BUSINESS.

has the products you need, created in the way today's customers are demanding. This goes way beyond recycled. This is about unique, high-quality disposable products from some of the earth's most renewable resources: sugarcane and cornstarch.

The result: an entire line of products that a better for your business and better for the environment.

BETTER FOR THE PIZZA

- The only box you can actually bake in
- Exclusive CrispyCrust[™] dimple design
- Keeps pizza hotter longer
- Round design creates perfect serving tray

BETTER FOR THE ENVIRONMENT

- Products made from sugarcane fiber & recycled plastics
- Tree-Free: a better alternative to recycled paper products
- Biodegradable Compostable Sustainable
- Breaks down FAST 60 to 90 days
- Clear recycled lids made from 100% recycled PET plastic

BETTER FOR BUSINESS

- Set yourself apart from the competition
- Uses 75% less kitchen space and with no assembly
- Studies show customers will pay more for "Green"
- Part of an entire line of Earth-Friendly Products

INTRODUCING THE TREESAVER™ BOX

Four billion pizza boxes are used in the U.S. each year. Every one of them the same. Why not make your product **stand out** while also **standing up** for the environment? It's exactly what your customers have been looking for and now you can deliver it.

MORE THAN A BOX

The TreeSaver™ is more than a pizza box. It's something totally new. Because it's made from sugarcane — not recycled tree products — your customers can actually use it for **baking and reheating**. Once it's out of the oven, the round pan becomes the perfect **serving dish**— no floppy box top to get in the way.

FOR DELIVERY & TAKE'N'BAKE

We've engineered this box to be superior in every way — right down to the patent pending CrispyCrust™ Dimples that keep the pizza fresher, longer. It's the ultimate box for both Delivery and Take'N'Bake.

Best of all, the TreeSaver Box is just part of the entire collection of earth-friendly products. We have everything you need to make your entire business ultra successful — and



Food Service Catalog

2010



ultra green...



Green's New Gold Standard.

It's a fact: your customers want green products more than ever. But your competitors know this, too. So how do you stand out and capture their attention? You offer products made from resources like sugarcane and cornstarch instead of trees and petroleum. You use disposables that you can actually feel good about disposing of. You offer customers products that perform as well as they look. You don't just go green. You go Ultra Green.



Completely Compostable. Totally Biodegradable. 100% Remarkable.

Ultra Green is truly your one-stop-shop for disposable earth-friendly products. The line features premium quality biodegradable and compostable products made from sugarcane fiber and cornstarch. Better materials. Better design. Better results for your business.

Are you ready to go Ultra Green?

Cornstarch-Based Products: [biodegrade in 150 days]
Cups & Utensils

Sugarcane Products: [biodegrade in 60-90 days]
Plates • Take-out Containers • Bowls • Tissues &
Napkins • Bathroom Tissue • The World's First Round
Pizza Box for Take 'n Bake

Earth-Friendly Products. Business-Friendly Math.

Recent research indicates that 90% of consumers feel that a company being green is important to their purchase decision*. If you can "out-green" the competition, you can instantly gain a competitive advantage and foster positive associations with your business. And, because Ultra Green products are both earth-friendly and premium quality, they can help you command a higher margin at checkout.

*Mintel, May 2008



Why Sugarcane is Sweet on the Environment.

Trees take 20 years to re-grow. Sugarcane takes 9 months. In many ways, it's that simple. Best of all, the material used in Ultra Green is actually the waste fiber (from the processing of sugar) that would otherwise be thrown away.

How do you make a better plastic fork?

Start by removing the plastic.

Ultra Green's line of earth-friendly utensils is cornstarch-based. As a result, these utensils will actually compost in as little as 150 days – unlike traditional petroleum-based plastic utensils, which can take over 150 years.





The TreeSaver™ Line: Beyond Recycled.

Boxes & Lids

Ultra Green's TreeSaver line features a higher standard of tree-friendly disposable products. Every bowl, plate, box and portion cup is made from 100% sugarcane fiber.* Our clear lids are made from PET/recycled plastic bottles. That makes them not only more renewable, but also allows you (and your customers) to re-heat and even oven bake right in the TreeSaver products.

*ASTM-6868 Certified.

Choose from:

- · Round Pizza Boxes
- · Single Slice Pizza Boxes
- · Bowls & Plates
- · Portion Cups
- · Chicken Wing Boxes



TreeSaver Pizza Box

Introducing the world's first round pizza box you can actually bake in. Perfect for take 'n bake, delivery, deli takeout and even as a serving tray, the TreeSaver pizza box is truly something that will be noticed – and loved – by customers. Instantly set your pizza apart from the competition.

- Patented Crispy Crust[™] dimple design keeps pizza fresher, longer
- · Round shape takes up less space perfect for serving
- · Oven-safe up to 375°F
- · Perfect for take 'n bake: bake right in the box!
- \cdot Available with either sugarcane or clear recycled PET lids

8" *100 unit/pkg, 1 pkg/case* Item # 200066

10" *100 unit/pkg, 1 pkg/case* Item # 200073

12" *100 unit/pkg, 1 pkg/case* Item # 200271

14" *100 unit/pkg, 1 pkg/case* Item # 200288

16" *100 unit/pkg, 1 pkg/case* Item # 200325

TreeSaver™ Boxes & Lids (cont.)



TreeSaver Pizza Slice Box with Sugarcane Lid

Keeps slices hot and fresh. Sugarcane allows moisture to release, while still retaining heat.

Small

200 unit/pkg, 1 pkg/case Item # 200110

Large

200 unit/pkg, 1 pkg/case Item # 200127



TreeSaver Chicken Wing Box

Great for wings, appetizers and virtually any take-out item. Bake right in the box.

8" *100 unit/pkg, 1 pkg/case* Item # 200141



TreeSaver Lid for Pizza Box

Sugarcane construction keeps heat in, but allows moisture to release. Pizza stays fresher, longer.

8" *200 unit/pkg, 1 pkg/case* Item # 200105

10" *100 unit/pkg, 1 pkg/case* Item # 200106

12" *100 unit/pkg, 1 pkg/case* Item # 200107

14" *100 unit/pkg, 1 pkg/case* Item # 200108

16" *100 unit/pkg, 1 pkg/case* Item # 200109



Clear Recycled PET Lid for TreeSaver Pizza & Chicken Wing Box

Clear lids ideal for take 'n bake. Made from recycled water and soda bottles. 100% recyclable.

8" *200 unit/pkg, 1 pkg/case* Item # 200158

10" *100 unit/pkg, 1 pkg/case* Item # 200165

12" *100 unit/pkg, 1 pkg/case* Item # 200172

14" *100 unit/pkg, 1 pkg/case* Item # 200189

16" *100 unit/pkg, 1 pkg/case* Item # 200198

TreeSaver™ Bowls, Plates, Cups & Lids

From deli-side to table-side, TreeSaver plates, bowls, portion cups and lids give customers a strong, sturdy solution for all their dining needs. Oils and liquids will not soak through. Made from 100% sugarcane fiber to

ensure they're as good for the environment as they are for your business. Available in a variety of sizes. 100% compostable & renewable.



TreeSaver Bowl

Great for pasta, soup, salads and more.
Microwave & oven-safe.

16 oz 500 unit/pkg, 1 pkg/case Item # 210010

24 oz 500 unit/pkg, 1 pkg/case Item # 210027

32 oz *250 unt/pkg, 1 pkg/case* Item # 210034

48 oz *250 unit/pkg, 1 pkg/case* Item # 210041



Clear Recycled PET Lid for TreeSaver Bowl

Clear lids made from recycled water and soda bottles. 100% recyclable.

16 & 24 oz *50 unit/pkg, 5 pkg/case* Item # 210102

32 & 48 oz 50 unit/pkg, 5 pkg/case Item # 210119



TreeSaver 3-Compartment Plate

Raised dividers keep portions contained. Perfect for buffets and hot or cold entrees. Microwave and oven-safe.

10" 200 unit/pkg, 1 pkg/case Item # 200134



Clear Recycled PET Lid for TreeSaver 3-Compartment Plate

Clear lids made from recycled water and soda bottles. 100% recyclable.

50 unit/pkg, 4 pkg/case Item # 210126

TreeSaver™ Bowls, Plates, Cups & Lids (cont.)



TreeSaver Portion Cup

Available in a variety of sizes for sides, sauces & dips.

2 oz 2,000 unit/pkg, 1 pkg/case Item # 210072

4 oz 2,000 unit/pkg, 1 pkg/case Item # 210089

5 oz 1,000 unit/pkg, 1 pkg/case Item # 210096



Clear Recycled PET Lid for TreeSaver Portion Cup

Clear lids made from recycled water and soda bottles. 100% recyclable.

2 oz 100 unit/pkg, 10 pkg/case Item # 210133

4 oz 100 unit/pkg, 10 pkg/case Item # 210140

5 oz 100 unit/pkg, 10 pkg/case Item #210157



TreeSaver Oval Bowl

Ideal for both hot and cold entrees for both dine-in and take-out. Microwave & oven-safe.

24 oz *300 unit/pkg, 1 pkg/case* Item # 210164



Clear Recycled PET Lid for TreeSaver Oval Bowl

Clear lids made from recycled water and soda bottles. 100% recyclable.

24 oz 100 unit/pkg, 3 pkg/case Item # 210173

Plates, Platters, Bowls & Clamshells

Sturdy & stylish. Ultra Green offers your customers the absolute best option of environmentally responsible

disposables. Made from sugarcane, these products biodegrade in 60-90 days and are 100% compostable.



Sugarcane Plates

Compostable, biodegradable and renewable. These premium plates are microwave and oven-safe and are available in a variety of sizes for any dining application.

7" Dessert Plate 125 unit/pkg, 8 pkg/case Item # 2A01UG0125-008

9" Lunch Plate 125 unit/pkg, 4 pkg/case Item # 2A02UG0125-004

10" Dinner Plate 125 unit/pkg, 4 pkg/case Item # 2A05UG0125-004



Sugarcane Bowl

Made from sugarcane and ideal for any hot or cold application, from soup to salad to cereal. 100% compostable. Biodegrades in as little as 90 days.

16 oz *125 unit/pkg, 4 pkg/case* Item # 2B01UG0125-004

*For more bowl options and sizes, see the entire Ultra Green TreeSaver™ line.



Sugarcane 3-Compartment Plate

Features three sections to keep portions separate. Heavy-duty construction means fewer spills and messes. Completely compostable and microwave-safe.

10" 125 unit/pkg, 4 pkg/case Item # 2A03UG0125-004



Sugarcane Oval Platter

Ideal for serving. Heat resistant & sturdy. Made from sugarcane.

12" *75 unit/pkg, 4 pkg/case* Item # 2A04UG0075-004



Sugarcane Clamshell

Perfect for take-out, delivery & leftovers. Made from sugarcane.

6" 500 unit/pkg, 1 pkg/case Item # 2K03UG0500-001

8.5" *300 unit/pkg, 1 pkg/case* Item # 2K01UG0300-001

10" 200 unit/pkg, 1 pkg/case Item # 2K02UG0200-001



Sugarcane 3-Compartment Clamshell

Perfect for take-out, delivery & leftovers. Sugarcane fiber is breathable, helping to keep food fresher, longer.

10" 200 unit/pkg, 1 pkg/case Item # 2K04UG0200-001

Cups & Utensils

Ultra Green cups & utensils are cornstarch-based, making them a more eco-friendly, compostable





alternative to plastic. Discover the difference!

Cornstarch Knife, Fork, Spoon, Soup Spoon

Cornstarch-based bioplastic utensils compost in as little as 150 days. A more eco-friendly alternative to traditional plastic utensils. Available wrapped or loose. ASTM 6400 Certified.

Cornstarch Knife 50 unit/pkg, 20 pkg/case Item # 2E10UG1000-001

Cornstarch Fork 50 unit/pkg, 20 pkg/case Item # 2E11UG1000-001

Cornstarch Spoon 50 unit/pkg, 20 pkg/case Item # 2E12UG1000-001

Cornstarch Soup Spoon 50 unit/pkg, 20 pkg/case Item # 2E14UG1000-001

Cornstarch Knife. Individually Wrapped 1,000 unit/pkg, 1 pkg/case

Item # 2E05UG1000-001

Cornstarch Fork. Individually Wrapped 1,000 unit/pkg, 1 pkg/case Item # 2E06UG1000-001

Cornstarch Spoon. Individually Wrapped 1,000 unit/pkg, 1 pkg/case Item # 2E07UG1000-001

Cornstarch Soup Spoon. Individually Wrapped 1,000 unit/pkg, 1 pkg/case Item # 2E15UG1000-001

Individually Wrapped Cornstarch Utensil Set

Offer your customers the convenience of an individually wrapped set. Includes napkin plus cornstarch fork, knife and spoon.

Cornstarch Knife, Fork, Spoon, Napkin. Individually Wrapped 500 unit/pkg, 1 pkg/case Item # 2E09UG0500-001



Cornstarch Cold Cup

A great alternative to tree-based or plastic cups. Durable and compostable, they are perfect for soda, juice, water and more. Made from 80% cornstarch.

8 oz *50 unit/pkg, 12 pkg/case* Item # 2C01UG0050-012

16 oz *50 unit/pkg, 10 pkg/case* Item # 2C02UG0050-010



Cornstarch Cold Cup Individually Wrapped

Individually wrapped version of our popular cornstarch-based cold cup. Ideal for take-out, hotels and more.

8 oz 500 unit/pkg, 1 pkg/case Item # 2C04UG0500-001

16 oz *425 unit/pkg, 1 pkg/case* Item # 2C05UG0425-001

Disposable Tissues & Napkins

Sugarcane-based napkins, facial and bath tissues perform great and are better for the environment. Soft, absorbent and a better alternative to recycled paper products. Hypo-allergenic and free of dyes, inks and fragrances.



Sugarcane Dinner Napkin

Quality paper napkins for both lunch and dinner are 100% compostable. A great alternative to traditional tree-based napkins. They break down into natural elements in 60-90 days.

2-ply 75 unit/pkg, 12 pkg/case Item # 1F01UG0075-012



Sugarcane Lunch Napkin

Sugarcane-based paper napkins (a casual alternative to our dinner napkin) are 100% compostable.

1-ply

250 unit/pkg, 12 pkg/case Item # 1F02UG0250-012



Sugarcane Facial Tissue

Quality facial tissues for breakrooms, bathrooms & offices. Soft on skin. Easy on the environment.

75 unit/pkg, 12 pkg/case Item # 1G01UG0175-012



Sugarcane Bath Tissue

Comfortable & absorbent, yet affordable and eco-friendly. Biodegradable, compostable and sustainable. Septic-safe.

3-Ply, 260 Sheets/Roll *12 unit/pkg, 8 pkg/case* Item # 1H02UG0012-008



Showcase Your Commitment to Your Customers.

Ultra Green delivers more than great eco-friendly products; it provides you with an instant marketing opportunity. Once you have the product in place, let your customers know you've "gone Ultra Green" with custom signage, stickers, table cards and more.

We can help give you the tools you need to make sure your customers know the positive impact your business is having on the planet.

Contact us for more info!



Don't see it? We'll make it.

Ultra Green offers a comprehensive product line, designed to work in virtually any food-service environment. But that doesn't mean we're done.

Far from it. We're constantly developing exciting new offerings that are more eco-friendly and cost-effective.

TreeSaver™ Product Line

		Product Description	Each per	Package	Itoms nor			Case Data			Pallet Data		
Item Number	Case SKU		Package	per Case	Items per Case	L"	W"	Н"	Case Cube	lbs.	Cases per Layer	Layers (to max 53")	Total Cases
Pizza & C	hicken Wi	ing Products											
200066	858725 200066	8" TreeSaver Pizza Box	100	1	100	12.2	9.8	19.3	1.3	7.1	17	2	34
200141	858724 200142	8" TreeSaver Chicken Wing Box	100	1	100	14.6	9.8	19.3	1.6	8.1	13	2	26
200073	858726 200073	10" TreeSaver Pizza Box	100	1	100	23.2	15	11.8	2.4	10	5	4	20
200271	858724 200271	12" TreeSaver Pizza Box	100	1	100	28.7	14	14	3.3	15.1	4	3	12
200288	858724 200288	14" TreeSaver Pizza Box	100	1	100	23.6	16	16	3.5	17.8	5	3	15
200325	858724 200325	16" TreeSaver Pizza Box	100	1	100	24	17.7	17.7	4.4	23.1	4	2	8
200158	858724 200158	8" Clear Recycled PET Lid for TreeSaver Pizza & Chicken Wing Box	200	1	200	19	16	10	1.8	6.7	6	5	30
200165	858724 200301	10" Clear Recycled PET Lid for TreeSaver Pizza Box	100	1	100	24	12	12	2	8.7	6	4	24
200172	858724 200318	12" Clear Recycled PET Lid for TreeSaver Pizza Box	100	1	100	24	14	14	2.7	17	6	3	18
200189	858724 200189	14" Clear Recycled PET Lid for TreeSaver Pizza Box	100	1	100	24	16	16	3.6	15.7	5	3	15
200198	858724 200198	16" Clear Recycled PET Lid for TreeSaver Pizza Box	100	1	100	24	18	18	4.5	19.8	4	2	8
200105	858724 200226	8" TreeSaver Lid for Pizza Box *coming soon	200	1	100	TBD	TBD	TBD	TBD	TBD	TBD	TBD	TBD
200106	858724 200233	10" TreeSaver Lid for Pizza Box	100	1	100	12	13	12	1.1	7.7	12	4	48
200107	858724 200240	12" TreeSaver Lid for Pizza Box	100	1	100	14	13	14	1.5	12.7	9	3	27
200108	858724 200257	14" TreeSaver Lid for Pizza Box	100	1	100	16	13	16	1.9	14.7	9	3	27
200109	858724 200264	16" TreeSaver Lid for Pizza Box	100	1	100	18	13	18	2.4	19.6	8	2	16
200110	858724 200110	TreeSaver Small Slice Pizza Box with Sugarcane Lid *coming soon	200	1	200	TBD	TBD	TBD	TBD	TBD	TBD	TBD	TBD
200127	858724 200127	TreeSaver Large Slice Pizza Box with Sugarcane Lid *coming soon	200	1	200	TBD	TBD	TBD	TBD	TBD	TBD	TBD	TBD
Bowls, Pla	ates, & Lic	ls											
210010	858724 210010	16 oz TreeSaver Bowl	500	1	500	15	12.6	12.6	1.4	14.7	9	4	36
210027	858724 210027	24 oz TreeSaver Bowl	500	1	500	16.1	12.6	12.6	1.5	19.7	9	4	36
210034	858724 210034	32 oz TreeSaver Bowl	250	1	250	13.2	8.7	16.8	1.1	12.6	16	3	48
210041	858724 210041	48 oz TreeSaver Bowl	250	1	250	15.4	8.7	16.8	1.3	17.2	14	3	42
200134	858724 200134	10" TreeSaver 3-Compartment Plate	200	1	200	13.2	10.1	19.7	1.5	14.9	15	2	30
210164	858724 210164	24 oz TreeSaver Oval Bowl	300	1	300	21.1	13.2	9.6	1.5	14.5	6	5	30
210102	858724 210102	16 & 24 oz Clear Recycled PET Lid for Tree Saver Bowl	50	5	250	28	12.75	6.25	1.3	6.9	4	8	32
210119	858724 210119	32 & 48 oz Clear Recycled PET Lid for TreeSaver Bowl	50	5	250	20	16.75	8	1.6	11	4	6	24

TreeSaver™ Product Line (cont.)

Item Number		Product Description	Each per Package	Package per Case	Items per Case			Case Data			Pallet Data		
	Case SKU					L"	W"	Н"	Case Cube	lbs.	Cases per Layer	Layers (to max 53")	Total Cases
Bowls, Pla	ntes, & Lic	ls (cont.)											
210126	858724 210126	Clear Recycled PET Lid for TreeSaver 3-Compartment Plate	50	4	200	20	10	19.75	2.3	6.9	10	2	20
210173	858724 210171	Clear Recycled PET Lid for TreeSaver 24 oz Oval Bowl	100	3	300	20.5	10.75	20	2.6	12.6	8	2	16
Portion Co	ups & Lid	s											
210072	858724 210072	2 oz TreeSaver Portion Cup	2000	1	2000	21	9.6	13.2	1.5	12.2	10	4	40
210089	858724 210089	4 oz TreeSaver Portion Cup	2000	1	2000	25	16	15.7	3.6	27.2	5	3	15
210096	858724 210096	5 oz TreeSaver Portion Cup	1000	1	1000	13	9.2	18.1	1.3	14.1	16	2	32
210133	858724 210133	2 oz Clear Recycled PET Lid for TreeSaver Portion Cup	100	10	1000	16	14	6	0.8	3.5	9	8	72
210140	858724 210140	4 oz Clear Recycled PET Lid for TreeSaver Portion Cup	100	10	1000	16	16	6	0.9	5.4	6	8	48
210157	858724 210157	5 oz Clear Recycled PET Lid for TreeSaver Portion Cup	100	10	1000	24	14	10	1.9	12.9	6	5	30

Standard Food Service Products

		Product Description	Each per Package	Package per Case	Items per Case			Case Data		Pallet Data			
Item Number	Case SKU					L"	W"	Н"	Case Cube	lbs.	Cases per Layer	Layers (to max 53")	Total Cases
Plates, Bo	wls, & Cu	ps											
2A01UG0125-008	858724 865449	7" Sugarcane Dessert Plate	125	8	1000	15	15	15	2	12.1	6	3	18
2A02UG0125-004	858724 865456	9" Sugarcane Lunch Plate	125	4	500	13.2	9.6	18.8	1.4	19.4	16	2	32
2A03UG0125-004	858724 865463	10" Sugarcane 3-Compartment Plate	125	4	500	12	10.8	21.2	1.6	23.8	12	2	24
2A04UG0075-004	858724 865470	12" Sugarcane Oval Platter	75	4	300	12.91	15.2	10.4	1.2	21.6	9	5	45
2A05UG0125-004	858724 865661	10" Sugarcane Dinner Plate	125	4	500	12	11	21	1.6	23.8	12	2	24
2B01UG0125-004	858724 865487	16 oz Sugarcane Bowl	125	4	500	13	13	13	1.3	16.1	9	4	36
2C01UG0050-012	858724 865494	8 oz Cornstarch Cold Cup	50	12	600	18.5	12.5	11.5	1.5	8	8	4	32
2CO4UGO500-001	858724 865715	8 oz Individually Wrapped Cornstarch Cold Cup	500	1	500	15.5	15.5	10.5	1.5	8	6	5	30
2C02UG0050-010	858724 865500	16 oz Cornstarch Cold Cup	50	10	500	19.3	15.4	10.4	1.8	14.1	6	5	30
2C05UG0425-001	858724 865722	16 oz Individually Wrapped Cornstarch Cold Cup	425	1	425	20	20	11	2.5	11	4	4	16

Standard Food Service Products (cont.)

Item Number	Case SKU	Product Description	Each per	Package per Case	Items per Case			Case Data			Pallet Data		
			Package			L"	W"	Н"	Case Cube	lbs.	Cases per Layer	Layers (to max 53")	Total Cases
Utensils													
2E10UG1000-001	858724 865616	Cornstarch Knife	50	20	1000	13.2	9.25	6.5	0.5	12.7	16	8	128
2E11UG1000-001	858724 865524	Cornstarch Fork	50	20	1000	12	10	7.48	0.5	13	17	7	119
2E12UG1000-001	858724 865623	Cornstarch Spoon	50	20	1000	11.6	10	8.7	0.6	12.4	17	6	102
2E14UG1000-001	858724 865845	Cornstarch Soup Spoon	50	20	1000	10.8	9.5	9.85	0.6	12	19	5	95
2E05UG1000-001	858724 865654	Cornstarch Knife, Individually Wrapped	1000	1	1000	13.78	11	8.66	0.8	15.4	12	6	72
2E06UG1000-001	858724 865646	Cornstarch Fork Individually Wrapped	1000	1	1000	16.54	13.2	10.43	1.3	15.9	9	5	45
2E07UG1000-001	858724 865623	Cornstarch Spoon Individually Wrapped	1000	1	1000	16	7.6	10.8	0.8	8.9	15	4	60
2E15UG1000-001	858724 865852	Cornstarch Soup Spoon Individu- ally Wrapped	1000	1	1000	16.33	13.2	10.03	1.3	15.3	9	5	45
2E09UG0500-001	858724 865647	Cornstarch Knife, Fork, Spoon, Napkin Individually Wrapped	500	1	500	20.1	16.54	9.45	1.8	23.7	6	5	30
2P01UG0100-050	858724 865777	Flexible PLA Soda Straws	50	100	5000	19.7	16.1	13.5	2.5	16.7	6	3	18
Clamshell	S												
2K03UG0500-001	858724 865593	6" Sugarcane Clamshell	500	1	500	20.8	12.2	12.6	1.9	25	9	3	27
2K01UG0300-001	858724 865579	8.5" Sugarcane Clamshell	300	1	300	18	10.8	16.8	1.9	23.2	10	3	30
2K02UG0200-001	858724 865586	10" Sugarcane Clamshell	200	1	200	19.6	10.2	15.2	1.8	23	8	4	32
2K04UG0200-001	858724 865678	10" Sugacane 3-Compartment Clamshell	200	1	200	20.8	12.2	12.6	1.9	23	8	4	32
Tissue Pro	oducts												
1F02UG0250_012	10858724 586242	1 Ply Lunch Napkin	250	12	3000	18.8	12.8	10	1.4	11.8	7	5	35
1F01UG0075_012	10858724 346631	2 Ply Dinner Napkin	75	12	900	18	7.8	10.4	0.8	10.4	14	5	70
1H02UG0012_008	10858724 865811	3 Ply Sugarcane Bath Tissue _ 260 Sheets/Roll	12	8	96	33	17	13	4.2	28.6	3	4	12
1G01UG0175_012	10858724 322420	Sugarcane Facial Tissue	75	12	900	18	8.6	9.4	0.8	6.9	10	5	50

ultra green...

Food Service Division

Cal Krupa cal@ultragreenhome.com Phone: 763-746-3345 Fax: 763-746-3346 Carlson Business Center 171 Cheshire Lane North Suite 500 Plymouth, MN 55441

UItragreenhome.com
US & Foreign patent applied for.
ASTM D6400 & ASTM D6868 certified